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ACCOUNTANCY WITH ANALYSIS OF FINANCIAL STATEMENTS

Maximum : 80 Scores
Time : 2% Hours

Cool off time : 15 Minutes

/ General Instructions to Candidates : \

afleyodmale: @688 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.
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Answer all questions from
question numbers 1 to 7. Each

carry one score. (Tx1=7)

1. Find the odd one out.

a) Cash

b) Bank

¢) Stock

d) Furniture

2. Which accounting principle/
concept 1s based on the policy of

playing safe?

3. Cheque received from Johnson
< 5,000/- deposited into bank.
Bank intimates that it was
dishonoured. But it is not
recorded in cash book. Identify

the type of error.
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A promissory note is drawn

a) Investor

b) Debtor

¢) Bank

d) Creditor

Write the equation on which the
statement of affairs is prepared

from incomplete records.

ALU stands for ...........

In DBMS the element used to
get only the required data as

output 18 ............
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149
Answer all questions from 8 oo@ 13 eowss afeldo
question numbers 8 to 13. Each @2103)6MBWDHN o DIQEICHE TS
carries two scores. (6 x 2 = 12) | ®deoMMIm0 2 MIe®od allmo. (6 x2=12)
) 8. ooy omldlenym W (Wo
8. Complete the diagram.
OB QOBE)Hs.
Accounting -
@OHOVENEI6013
l \J l l l
\/
Fmancial) | @ | o (b)...... aglocbaryad
Accounting Jd 0 e (a) .............. (b) .......
@OHOVENEI6013
9. List out any two advantages of 9. oagl ®0a enpee MV(MUBIWO
maintaining petty cash book. £a18OUlEOME@IONR aRomssleno 2
(0 IBQIOBMETBURD ) PI®Ms.
10. Rectify the following errors. 10. ®oey @mMIdlenim o®gLeRBes
@OIODT aG)MDES] ag)Ly®ds.

a) Sales day book overcast by a) el muss 9,000 ool
< 9,000/-. BSIBRIOENS.

b) Paid rent to Salim ¥ 1,000/- b) 1,000 aas eflalm oss
debited to his personal NRBH Q@ @0EGa0 W10 R
account. QBT N® @EHVENEIG eawenlly

6.21Q®).
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11.

12.

List out any two factors affecting
the depreciation of fixed assets

in a business.

Calculate the operating profit

11. eqy elcniim@ilea audle eomiciwes
e®WDOME ®H en1oWleeym
oo ®e»1eljo 2 20|S > 6B D
(1@ alOGE] 6.

12. ®oev emidesym ealoady @aduy

149

from the following profit and loss

GRIOM’

@0 H6) DN @

mlomyo

account. IQUR@DM BIOBO &H6eNB8)a(ISIH6)ds.
Profit & Loss a/c

Dr. Cr.

Particulars Amount | Particulars Amount

To Salaries & Wages 15,000 | By Gross profit 60,000

To Rent 5,000 | By Commission received 5,000

To Interest on loan 4,000 | By Profit on sale of

old machinery 2,000
To Net profit 43,000
67,000 67,000

13. List out any four advantages of 13. ®oalyge00MW aveeens) 6o’

Computerized

System.

K-452
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Answer any five from question

numbers 14 to 19. Each carries

three scores. (5 x 3 =15)

14. Explain the following

accounting concepts.
a) Going concern
b) Dual aspect

c¢) Consistency

15. Show the effect of the following
transactions on Assets,
Liabilities and Capital through

accounting equation.

a) Started business with cash

< 2,00,000/-.

b) Purchased goods from Manu
< 10,000/-.

¢) Sold goods to Rinu (costing
< 6,000) for X 8,000/-.

16. Lekshmi Enterprises's cash
book showed a debit balance of
< 18,000/-. Its passbook showed
credit balance of3 20,000/-. State
any three possible reasons for

this differences in balances.

K-452

149
14 ojo@ 19 cueowigs Ga106)eBelmd

agem®leljo 5 ag)eROTIM SOMOOALI®H:.

89800mMilmyo 3 MeHod allme. (5 x 3 = 15)

14. ®oey omMldleaym @oee6nElens’

OOIEBR ANlKdBRIHEH:.
a) eWoflotd HEMEIVEM ®®Io
b) awywad eeMieg e®lo

c) ®emmlgdm @mio

15. ®oey omIdeniMm 0salosieaies
mjowlmo @OHHVNSTENE VAR
RISHEMBRIW  @OAV®],  NIOWY®,
ORI mMo agymiaiwlenes

QUYB®DOBE) .

a) ®0ad e almy enflamilmqy

@0l 2,00,000 o

b) amial@® mlmmio mowmemwd

el 10,000 o

c) 6,000 oyaies amowmo 8,000

Mol olmy allad allgy.

16. ool ag)BO6S (I Q1OR
006N 1B e1108%s 8080 18,000
@ les ewemllg enioeiadmge aloqy
oeel@ 20,000 ool e@wly
NIORIMMIo  OEMIHHIMY. 60D

QU®IOMO AUOIOMEBE 3 EBHO0METBRD
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17. Prepare a Trial Balance from the
following balances.
Cash < 28,000/-
Bank overdraft < 7,000/-
Purchases < 20,000/-
Sales < 32,000/-
Capital < 40,000/-
Land & Buildings I 31,000/-
18. Pass the adjusting entry on the
following.
a) Salary outstanding I 2,000/-
b) Depreciation on machinery
< 3,000/-
¢) Interest on capital ¥ 1,000/-
19. Calculate capital on 1% April,
2017 by preparing statement of
affairs from the following
balances on that date.
Cash in hand I 12,000/-
Bank overdraft I  6,000/-
Machinery I 18,000/-
Sundry debtors I 10,000/-
Sundry creditors I  4,000/-
Stock in trade I 5,000/-
K-452

17.

18.

19.

oY ®MIAILHINM  NUIOLIMD TV D

)OS (S enlopIad
®QOOOBEBs.

00 I 28,000/-
enIoss @oUdwoadg X 7,000/
aldsomqy < 20,000/-
emi@mny 3 32,000/-
@eIWMo < 40,000/-
muoelie edglsae X 31,000/-
®OeY @ MIR1HOH;M AUQOS

@oaRElotd ag)ME! ag)LI®b:.
a) wmigo ME:oMEea® I 2,000/-

b) eacimolwies e MOMo

< 3,000/-

c) oeiwm atefive X 1,000/-

®oey @mlaleeym 1-4-2017 eel
eNI0RIMNIE(D HalEWOUile] Bauaend

60al @OaNEYIY GQIOIHE] MILILMo

N30 151666

@0aH I 12,000/-
608 BoUB(Woadg X - 6,000/
eaadlnd I 18,000/-
eaeniegdMy < 10,000/
(@wlegdmy I 4,000/
GEROHE) I 5,000/-
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Answer any five from question

numbers 20 to 25. Each carries

four scores.

20.

21.

Briefly explain the objectives of

accounting.

Journalize the following
transactions.

2017

June

June 1 Started Business with

cash < 1,00,000/-,
Building < 1,20,000/-

June 3 Purchased goods from
Usha 3 20,000/-

June 4 Deposited into bank
< 30,000/-

June 9 Paid to Usha< 19,500/-

by cheque in full

settlement.

K-452

(5 x 4 =20)

20 )o@ 25 cueow)gs 62106)eBslmd

agem®leljo 5 ag)eROTIM SOMOOALI®H:.

80800mMImo 4 Mies:0d Allao.

20.

21.

@0HOVNEITEIONN LlHUETBOS B

oM@ AltoBOOBEH:.

®O6Y ®MMIAILNIM  DSaldSId R

GRAMOOLINY 6)21Qd.

2017

28261

g 1 ®oad 1,00,000/- mali@)o
edglso 1,20,000/- malwio
QI enflavlmqy’
@OOoE|2)].

@M 3 ©aUWIOS OOBQIM mlmmo
LOWMETBWD  (LIOEMEl Q@Y
20,000/- ol

g6 4 en10ssl@d alemo
olesalloj@ 30,000/
®Ja.

@) 9 DauW'He’ 19,500/-

0JIWIOS O2IH MBIS]

DS l0S)Hd @B oss.

bGx4=
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22. On August 1, 2017 Anuja sold
goods to Blessy for< 24,000/- and
immediately draw a bill on
Blessy for three months for the
same amount. Bill accepted and
returned to Anuja. On October
4, 2017 Blessy retired her
acceptance at rebate of 10% p.a.
Pass the journal entries in the
books of Anuja.

23. Arrange the following assets in
the order of permanence.

a) Cash in hand

b) Land and building

¢) Sundry debtors

d) Stock in trade

e) Furniture

f) Cash at bank

g) Bills receivable

h) Plant & Machinery
K-452

22.

23.

1-8-2017-a@d @omyge 24,000 ool
WIS MOWMEBKR eilises allg;.
R es caEd Ay MOME®D enfl@d
)@ ol eafls @MRWHE)
dldlos eidop. 4.10.2017 @ eyql
10% cuodadle alellvo mloss]cd 0o
@ Cl3d 6210®m). BOMRWIOS
Nl ER e el

GREM@ )M (SR

Q) FI®B>.

®06Y ®MIAIBHIM @Y TV®] 8D

quolo®ies @0 slaundom o] @l

(H2OSIOT] ) PIOIE.

a) 6060Yloal B0

b) cumime ewslsemsio

c) eenisgdmy

d) mowmemgies losiaion]
e) andemlod

f) enuowlengs @oad

g) enl@dmy dledlauenNad

h) gjomie emeflmdlwyo
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24.

25.

From the extract of Trial
Balance and additional
information, show how the
items will appeared in the final
accounts of Mrs. Shamla.

Trial Balance
Particulars Debit | Credit
Sundry debtors 31,000 -
Bad debts 2,000 -

Additional information :

a) Write off further Bad debts
< 1,000/-

b) Provision for bad debts @ 10%

Calculate total purchase from

the following data during 2017.

Total creditors as on 1-1-2017
< 37,000/-

Cash paid to creditors during

20173 63,000/-
Discount received I 7,000/-

Total creditors ason 31-12—2017
< 47,000/-

Cash purchases during 2017
< 72,000/-

K-452
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24.

25.

®O6Y @mM1elH6 oM (SW @
euoRIMMIOM BONEMIEREROIW0
@mieaw  allaloemleRgaalwio
©6a0Mm@d

@Wa®l. adorl @6S

@OEHVENEIG )ETBOM BOEUOQ SO0
gy ) LY.

S enIoLIMdMY
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QflvoaoovETBUd eaenlly| ewwlg
aaeNierdMY 31,000 -
#1S0HS0 2,000 -

@omeniaw alleesd :

a) 1,000 oot oS! B1508:S0 ag) Ly
OIS

b) 10% &13085 HOIO@ WMo

OB,

®oeY ®mMIalenyom aflaloeasaldd
adlemge 2017 eel @oed: aldegjeimvq)
N30 151666

1-1-2017 eal @@ (@aleqymy
< 37,000/-

2017 @ ewmwlegymilm Mm@l
@y X 63,000/-

2017 @ ewwwlegyaul@ mlomio
wlmigeng @lgloe X 7,000/-
31-12-2017 eel @6 le:uwlegymy
< 47,000/-

2017 @008 altdsojovqy I 72,000/-



Answer any two from question
numbers 26 to 28. Each carries

five scores. (2x5=10)

26. Prepare a Bank Reconciliation
Statement from the following

information.

a) Overdraft as per the cash

book T 12,000/-

b) Cheque issued but not

presented I 8,000/-

¢) Cheque deposited but not

collected I 12,000/-

d) Interest debited by bank

< 1,000/-

e) Municipal Tax paid by bank
as per standing instruction

< 2,000/-

f) Dividend collected by bank

3 5,000/-

K-452
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26 o)om 28 cueow)gs 62106)eBRElmd

agem®leljo 2 ag)eROTIM 9OMOOAPI® LS.

@0eeomimye 5 mieeod allme. (2 X 5 =10)

26. ®oev ®m1@lHe30m
alaloesglale@owlyy 608y
Oles ed vl efl 6 e alglds

®QOOIH6) >

a) #oaHeNIyes’ (I BH00MES

soadwoadg I 12,000/-

b) 60186 MRHIWG@  alemo

060 @ X 8,000/-

C) 62188 MBI n3® ag)MOT

alldleny slgoame X 12,000/-

d) entoss’ el MVSOERIQ@

< 1,000/-

e) MBegu (aldo0o myMavlajad

Al enuiogs madelm X 2,000/-

f) enealwdl®o 6n10 %S

alldeoysyema I 5,000/
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217.

28.

Athulya Plant &
Machinery on 01-04-2013 for
< 60,000/-.

bought

Erection charges
amounting to ¥ 10,000/-. On
01-01-2015 a new Machinery
purchased for ¥ 30,000/-. On
01-07-2016 an additional

Machinery purchased for
I 40,000/-. Prepare Plant &
Machinery account by charging
depreciation @ 10% on
diminishing balance method for

first four years assuming that

the books are closed on
31s* March every year.
On 11-08-2017 Pavithra

purchased goods from Kiran for
I 18,000/-. Kiran draws a
3 months bill on Pavithra and get
it accepted. On 14-08-2017
Kiran discounted the bill @ 6%
p.a. with his bank. On due date
Pavithra dishonoured the bill.

Record journal entries in the

books of Kiran.

K-452
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27.

28.

@oamyely 01-04-2013 o 60,000
0ol @OS gJoMd @MW e@adImAl
aloesl. mnoallenymamlmow]

10,000 ol ealeluowl.
01-01-2015 @ opol@ emadlmal
30,000

01-07-2016 @ 40,000 ojeiwes

0ol Q' B6) cuoensl.
06500} OaHINClES] Ql06mE]. gJod

@ ad W’ eI ol @OLNDVENE’

s@@nomo 10% alojoieyemlay
BHEMBOOBE] BOBYOO® 4 UBUOED
BEMDE) ag)ejo Udaxtllo 31 Mmodoflwd
@l momla{lenyam aflw el @l

®QYOOOH6) .

11-08-2017 @ aafi® 18,000
0Jal@IOS MVOWMEBWH  &loemlen
060HYIe Mmoo oemsl. 1o
3 20MVeE® HoeIAUWIWes @
eal@loa®l momole] eaflg) Aol
14-08-2017-@ #loed 6% p.a.
om@ ®e@ eussld v enlldd
wl'eevene eale®).  enlldd
®dajosHeene Elaimo aloll@ enflad
aléMo M@HIO® ASHE. Hloamlan

euielenl eRdeM@  ag)(Sle

Q) FI®B>.
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Answer any two from question

numbers 29 to 31. Each carries

eight scores.

29. Prepare the Trading and Profit
& Loss account and Balance
Sheet of Ramakrishna Textiles
from the following Trial Balance
as on 31 December, 2017.

(2 X 8 = 16)

29 njo@d 31 cueowi8s 82103)BEIM
agem®leljo 2 ag)eROTIM OMOORI):.

80800mMImo 8 Mies:0d Allao.

29. ooad:yaism eseeueldmied @moey
@mildleanym 31 aslavoerud 2017 el
SW@ eniopidme ogy alldlessglo
9aleonle) esWlotl @RBOHVMNBI0
8lalondly @MW czeloq;g BOHEVENS)0

enoRIdMiadlqlo ®QOOIHEIH:.

Trial Balance as on 31% December, 2017

Particulars Debit Credit
Amount Amount
Cash in hand 12,000 -
Purchases 20,000 -
Stock on 1-1-2017 18,000 —
Building 20,000 -
Sales - 47,000
Commission received — 3,000
Sundry debtors 17,000 -
Salary 5,000 -
Wages 4,000 -
Drawings 2,000 -
Capital - 50,000
Insurance 2,000 -
1,00,000 1,00,000
Additional information : og) allaloesd :

a) Stock on 31-12-2017

< 20,000/-.
b) Salary outstanding I 3,000/-.
¢) Depreciate building @ 5%.

d) Provision for bad debts
@ 10%.

K-452
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a) 31-12-2017 eea desiidal
aloss’ X 20,000/-

b) wmigo ma@eomes® I 3,000/-

C) o&glsEmImes emmomo 5%

d) #lgossasimo 10% &oyecd

Wmo mogl OB

149

(2 x 8 = 16)

Turn Over



30. For the month of October 2017,

prepare double column cash

book from the following

transactions.

October, 2017

Oct 1  Cash in hand X 12,000/-
Cash at bank < 18,000/-

Oct 3 Purchased goods <
7,000/-

Oct 4  Carriage paid I 1,000/-

Oct 7 Sold goods for cash
< 10,000/-

Oct 8 Deposited into bank
< 5,000/-

Oct 10 Received cheque from
Kannan < 12,000/-
deposited into bank.

Oct 12 Issued cheque to Karim
< 9,000/-.

Oct 15 Kannan's cheque
dishonoured.

Oct 16 Withdrew from bank for
office use ¥ 4,000/-.

Oct 25 Withdrew cash for
personal use I 3,000/-

Oct 30 Interest credited by

bank < 500/-.

K-452
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30.

®O6Y MMIAILNIM  DSaldSIdRD
£alEWOUIl ] MNE 8080 00 eNIHE)

®QYOOOH6) .

2017 886506010

8 1 060600 I8s 00’
] 12,000/- enuoslengs
#00f I 18,000/-

8d 3 qowmo cuossdl X 7,000/-

88 4 HSomieel M@ s
< 1,000/-

&d T Mool aowmo  allge’
< 10,000/-

8 8  6nIomsl@d mlesdailoll
< 5,000/-

85 10 semem e6HQlad almmo
02186 HISIW@ 0B
sngy X 12,000/-

88 12 Hdloalla) 61.2186) 6):05))
< 9,000/-

85 15  senedd 6.01H6)
66 lnQfgoa® asersl.

88 16  &oadlny’ @oluwyEmmow
U081 Moo  aléMo
afldauelay. I 4,000/-

88 25  M&00y @DUGETIMOQ]
00’ alfldaielaly.
< 3,000/-

88 30  en1oms alellve cleainlo)@

< 500/-
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31.

Explain the following with

suitable examples.

a) Current asset

b) Source document

¢) Error of commission

d) Key attribute

31.

®oeY ®MIAIHHIM ©BOaOEM

madlmo  AlltdElE@lee)s:.
a) ®O®H0eld: @
b) soalls s

c) &ollad® O®RYBHRD

d) &l eoglenys

K-452
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